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N=THe &S
&Gt ZEE XYM S0E (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
NS0 634,330 629,764 4,566
= 68,294 74,583 NB,289
T 566,036 555,181 10,855
INEDN =S 542,494 543,628 A1,134
= 68,294 74,583 AB,289
- 474,200 469,045 5,155
2ot SEE XYM SoE = 401,560 389,543 12,017
ANEME 28 € SE2 91,475 79,458 12,017
308 XXM SOOI 71,772 59,755 12,017
11 S| 2S0UeE & AST AL 7,772 59,755 12,017
OXIZAl BEAAE 2SI
&3 17,721,330 17,722 5,705 12,017
INEFEHES L IpA2| HEEH AL 140,934 154,085 A13,151
= 68,294 74,583 AB,289
T 72,640 79,502 AB,862
INE=FERIHA DAL 140,934 154,085 A13,151
= 68,294 74,583 AB,289
- 72,640 79,502 NB,862
101 Q124H| 0 13,151 A13,151
= 0 6,289 16,289
- 0 6,862 NB,862
04 JIRHHZ2Z2REE S 0 13,151 A13,151
OMNE=8 SELITA BEXR3F 0 13,151 A13,151
-Jl2s 33 03 0 11,835 A 11,835
= 0 6,289 AB,289
- 0 5,546 A5,546
- 2Lz RES 38 0¥ 0 533 2533
- DEEEE 38 0 0 1% A196
- AHEEE 28 0= 0 122 A122
- ZUALEE= 33 03 0 414 N4
- LoFIIRASEE 4% 0 0 51 51
HH A AU (ML) 91,836 86,136 5,700
J12ZHI (M1 91,836 86,136 5,700
Jl2ZHI(H=11) 91,836 86,136 5,700
201 Lt 25,120 25,920 A800
01 AtR2telbl 24,160 24,960 A800
ORM2E Izt
2% 12,080,000& 12,080 12,480 2400
OJI2 g8 Z4l]
Z& 12,080,000 12,080 12,480 A400
203 R =& 4,300 4,800 A500
MU 2EA2SYRFA 4,300 4,800 2500
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M #Y2AAH|(MR1D)
ool J1=2ZHI(MS1) (S &)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HunsZ
ORAN2dE HRFEH|
Z2 & 4,300,000 4,300 4,800 A500
405 KHAHH SH] 10,000 3,000 7,000
01 AL =S F =H| 10,000 3,000 7,000
OMSRE HASAH] 7,000,000 *1H 7,000 0 7,000




